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This Question Booklet is of four Sets — A, B, C and D.
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This Question Booklet consists of objective type of 25 questions.
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All questions are compulsory.
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Each question carries equal marks.
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There is no negative marking.
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Rough work must be done in the space provided at the end of the Question
Booklet only.
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Read the instructions given on the OMR Answer Sheet very carefully and fill
your particulars in the specified space on the OMR Answer Sheet.
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Do not put any stray mark anywhere on the OMR Answer Sheet. Do not fold
or mutilate your OMR Answer Sheet.
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Before leaving the examination hall submit your OMR Answer Sheet to the
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Booklet
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The remainder when 10'0 + 1000 + .. 410'000000009%s divided

by 7 1s
A 0 B) 1
) 2 (D) 5
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Suppose the sum of n  consecutive integers

X+(x+1)+(x+2)+...+(x+n-1) = 1000. Then which of the followir:;
cannot be true about the number of terms n ?
(A)  The number of terms can be 16
(B)  The number of terms can be 5
(C)  The number of terms can be 25
(D)  The number of terms can be 20
3. A wfi fawm O il A dema w1 @ A S 5 @ farss #)
(A)  S0500 ' (B) | 50250

(C) 50000 (D) 49500

Find the sum of all odd three-digit numbers that are divisible by 5.

(A) 50500 (B) 50250
(C) 50000 _ (D) 49500
4. q{c &

a?-(b-c)® B -(a-c]’ ¢’ -(a-b)
(a+c]2—b2 (a+b)2—c2 (‘“b)z"cz
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................................
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Simplify :

2 2 2 2
a“ -(b-c) +.lL;((1_;C)i+ c2—(a~b)z

(a+c)” - b? (a+b)® - ¢ (a+b)? - c?

A) O B) 1

(C) a+b+e¢e 1
(D) a+b+c

s 012+ (18)" %1 v s e, A e N
(a) 2 B) 8
c o | D) 1
Find the unit digit of (12)3" + (18)3” , if xe N .
(A) 2 B) 8
€ 0 | D) 1
6. b @il @ 1500 1 g1 Fhi A ferafea fomam o wehan @ 2
A) 18 (B) 12
C) 24 (D) 36
In how many ways can 1500 be resolved into two factors ?

(A) 18 B) 12

................................................................................
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12 21 g | st R den sa R

(A) 37 (B) 73
) 71 (D) 72

A two-digit number is formed by either subtracting 17 from Nine

times the sum of the digits or by adding 21 to 13 times the
difference of the digits. Find the number.

(A) 37 , B) 73

© 71 | D) 72

x % °HE B dim wa SR St il x2—7x+3<2x_+25 & TqE
F B

@A) (-2 11) B (2, 11)

© (~w-1)U(2,11) (D) (-8-2)U [11,]

Find the range of the values of x which satisfy the ineqﬁation,

X% -Tx+3<2x+25.

A)  (-2,11) ®) (2, 11)

€ (~=-1)U(2,11) O (-8-2)U[11,)
720 % Bl Ha QoI WTSTehl 1 AT I <hifore

(A) 2012 (B) 2624

(C) 2210 (D) 2418
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L and

10.

11.

.........

[A]

Find the sum of all possible whole number divisors of 720
(A) 2012 (B) 2624
(C) 2210 (D) 2418

T Be AABC #, fig Dy ABW R 3k fig £, o1 AC™ 2}, T WER
f% BCED % wwewa 1 DE: BC = 3 : 5. AADE 31 @wel@ wqdst BCED
& SABSA  IUTE Hi ToET Hfr

A 3:4 B) 9:16

(€ 3:5 | D) 9:25

In a triangle AABC, point D is on side AB and point E is on side AC,
such that BCED is a trapezium. DE : BC = 3 : 5. Calculate the ratio
of the areas of AADE and the trapezium BCED.

A) 3:4 B) 9:16

C) 3:5 | (D) 9:25

%@ 1 T H AT ghs B o gl i uferd KW 9t 9

(2+43) B) 6n(2+J3)

....................................................................................................................................................................
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12,

13.

The area of the circle circumscribing three circles of umt radius

touching each other is

™ Z(2443) B)  6n(2+43)
(C)  3n(2+43)° (D) %(2+J5)2

U wHh B A, #0 w1 At = @ s b AR & AT & A

(A)  30° 3R 30° (B) 30° 3N 60°
(C) 15° 3R 75° (D)  45° 3 45°

In a right-angled triangle, the square of the hypotenuse is equal to
twice the product of the other two sides. The acute angles of the

triangle are
(A) 30° and 30° (B) 30°and 60°
(C) 15%and T5%: (D) 45° and 45°

afe sinx°=sinax, o =

180 n

A B 575
L 270 _n
€ = D) 130
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If sinx°=sinax, then a =

180
A —_— -
(A) - B 55
270
() = e
n (D) 180
14, FEffead A s arava @ 2 2
. 3 ; 3
A 0== =3
(A) sSin 5 (B) sin® =
(C) cosecH=0-14 (D) cosec6 =14
Which of the following is not possible ?
1 —§ 3 =—-3-
(A) sinf= = (B) sinb =
(C) cosec6=014 (D) cosec =14

15.  afe i yTcHe ardfas G x, y, z, AP § 30 YHR & 6 ayz= 4, @ y

1 =ZAqq W F1 B ?
1 2
(A) 23 B) 23
1 3
(c) 2% (D) 24
e TSTMS/X):I:;/:IN&.);j ............................................... o




0

If three positive real numbers x, y, z are in AP such that xyz = 4,

then what will be the minimum value of y?

1) 2
3 —_—
1
- 3
4 2
€ 2 ) 29
16. 2 . X
D, E, F T& AABC# %¥W. BC, CA 3 AB w3l % men fag 21 favgd
DEF 3R ABC % &%l &1 31w 71 it
(A) 1:4 (B) 1:2
C) 2:3 (D) 4:5
D, E, F are the mid-points of the sides BC, CA and AB respectively
of a AABC. Determine the ratio of the areas of triangles DEF and
AREC.
(A) 1:4 B) 1:2
(C) 2:3 (D) 4:5
I 4 . 4
17. ‘j—4+J8+16 cosec ' asin’ a =
(A) coseca-sina (B) 2coseca+sina
(C) 2 coseco - sina (D) coseca-2sina
‘f—- 4+\/‘8-+16 cosect asin*a =
(A) cosec a-sina (B) 2 cosec o+ sin o
(C) 2 cosec a - sin (D) cosec -2 sin «
(622501] [TSTMS/X/11/1005 10/ 16




18, 7 Rtk 3w o ) 2 gz aiv 1 Fa e e HY sft wn Y o
a 1 3
2
© = 1
3 D) 3
Three coins are tossed. What is the probability of getting 2 tails
and 1 head ?
1
@& 2 (B) -g-
2
© 2 o 3
19. 44,42, 40, .... %1 ARrwaq A R AT 2
(A) 502 (B) 504
(C) 506 (D) 500
What will be the maximum sum of 44, 42, 40, ... ?
(A) 502 (B) S04
(C) 506 (D) 500
20, 3u ga %1 frean i Fife S gefeg, (0, 4) 3 (4, 0) @ A ot R
A 2 B) 42
c V8 - (D) 342
[62)%]] i i AT



Find the radius of the circle which passes through the origin,

(0,4)and (4,0).
(A) 2 B) 42
€ V8 D) 3V2

21 p%mm%m,ﬁg(p—]_,p+2),(p’p+1),(p+1,p)m%’)

A) p=0 B) p=1
(© p=-1 (D) pI s W AR

The points (p-1, p+2),(p, p+1),(p+1,p) are collinear for which
value of p 'P

A p=0 B) p=1

(C) p=-1 (D) Any value of p

0o TEN 660 fEt 1 AEN A T @ I FRIN AMG T H HR G
et 21 afe 97 34§ 300 forrt S AW R & 7 A 2, A W 13.5 W
ama §1 afeed, afe 78 37 @ 360 fft 6t ann et R S A ww |, @
30 firte it @ra §1 3G TR FR @ 660 TRt i aEn A R, @ ITH

w0 feran T wwA(EE #) 9@ B

(A) 13 B) 14
c) 12 (D) 11
[622591] .............. TSTMS/X/II/loos "




A
Gamya travels 660 km, partly by train and partly by car. If she
covers 300 km by train and the rest by car, it takes 135 hours.
But, if she travels 360 km by train and the rest by car, she takes

30 minutes longer. Find the time ( in hours ) taken by Gamya if she
travels 660 km by car.

(A) 13 (B) 14
€ 12 (D) 11

23. 3R O Fva feem e GEmat F @ & AW 155 2, @ FHH PEE

........ % S g
(A) 99 (B) 105
(€) 693 (D) 315

If the sum of the squares of three consecutive odd natural numbers

is 155, then their product will be equal to
(A) 99 (B) 105
(C) 693 (D) 315

24, U @ W Th FHHIV HUSTHR So H FEH A AEEHR W 2.4 Hie
3 we@ B 1.6 MK 3| 7H 98 7 dfit R IR Wa F ww f @
120 Hie/fome 8, @ 4 9t = areft Tl @ et T B weh w@ °§ o

Il GHT 1A HC|
A) 60 fie (B) 90 fire
) 75fwe (D) 70 fme
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ae idest elliptical
A right elliptical cylinder full of p('trnl has 118 wid f

. s . » [‘\
side 2:4 m and the shortest 1:6 m. Its height is 7 m. |
jameter 4 cm if

ind the time

required to empty half the tank through hose of d

the rate of flow of petrol is 120 m/min.

(A) 60 min (B) 90 min
(€) 75 min (D) 70 min
25, 3u S 1 A T e e Fi gl  wu A forg e eI
(1, 1), (3, 4), (5,-2) 3 (4,-7) 2l
(A)  20-5 (B) 41
C) 82 (D) 615
Find the area of the quadrilateral the coordinates of whose angular
points taken in orderare (1,1),(3,4),(5,-2)and (4,-7).
(A) 205 (B) 41
€ 82 (D) 615
[622591] ......................................... TSTMS/x/n/loosv ................. 14/16
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